Subject: re:
Posted by dbeardsl on Tue, 03 Sep 2002 06:01:41 GMT

View Forum Message <> Reply to Message

| use WinISD for calculations, | did it correctly, two ports with the same total area as another
single port end up having different lengths.Why?

Page 1 of 1 ---- Generated from Audi oRoundTabl e. com


https://audioroundtable.com/forum/index.php?t=usrinfo&id=2617
https://audioroundtable.com/forum/index.php?t=rview&th=7622&goto=38144#msg_38144
https://audioroundtable.com/forum/index.php?t=post&reply_to=38144
https://audioroundtable.com/forum/index.php

